
Question 1
5 / 5 pts
(TCO 8) _____ is the incidence of childbearing in a country’s population, while _____ refers to maximum 
possible childbearing.

  
Fertility; fecundity

  
Active fertility; childbearing potential

  
Birth rate; population growth

  
Fertility; childbearing potential

  
Fecundity; fertility
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Question 2
5 / 5 pts
(TCO 8) According to Emile Durkheim, while traditional, rural societies were built on _____, modern urban
societies are held together by _____.

  
likeness; difference

  
difference; likeness

  
money; morals

  
trust; duct tape

  
choice; conformity

Chapter 15

 
Question 3
5 / 5 pts
(TCO 3) The concept of modernity refers to changes in social patterns brought on by which of the 
following?


